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1.

Libya sold more crude oil in 1985 than it sold five years earlier, but revenues were 17 percent less. Which
graph is consistent with this set of facts? (a)1 (b)2 (c)3 (d)4
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The share of industry output sold by the top four stee! producers in the country are 19%, 15%, 12%, and
9% respectively. The four-firm concentration ratio for the steel industry is
(2)0.19 (b)0.55 (¢)0.138 (4)0.65

The government prefers a market-based approach to reduce firms' emissions of a toxic gas but wants to
make certain that no more than 1,000.cubic yards of the gas are ever emitted in a single day. The most
efficient policy under these circumstances is likely to be a system of

(a) per-unit taxes on emissions of the gas.

(b) per-unit taxes on the goods produced by firms that emit the gas.

(c) subsidies to firms that agree not to emit the gas.

(d) sales of permits to emit specified quantities of the gas on specified days.

Stock prices felt throughout much of 2007 and 2008 and many investors decided to switch their funds
into the bond market. What only about 30 percent of surveyed investors knew was that as bond prices
rise, interest rates

(a) fall in reaction to the increased demand for bonds.

(b) fall in reaction to the decreased demand for bonds.

(c) rise in reaction to the increased demand for bonds.

(d) rise in reaction to the decreased demand for bonds.

In the figure below, which of the following movements would you associate with a "negative supply
shock"?

(a) AtoB

(bYyAtoC

(c)Cto E
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6. For a given elasticity of supply, the more the demand for the good, the share of the tax paid by
the buyers is
(a) inelastic; larger
(b) inelastic; smaller
(c) elastic; larger
(d) elastic; smaller

7. Firm A and Firm B emit 300 tons of pollution each and each have marketable permits that allow each to
emit 100 tons of pollution. If it costs $5,000 for Firm A to eliminate 100 tons of pollution and it costs
Firm B $6,000 to eliminate 100 tons of pollution, then
(a) Firm B sells its permits to Firm A for a price above $6,000.

(b) Firm A sells its permits to Firm B for a price below $6,000.
(c) Firm A sells its permits to Firm B for a price above $6,000.
(d) Firm B sells its permits to Firm A for a price below $6,000.

8. If Microsoft wanted to prove to the Justice Department that its Windows software has many substitutes
that personal computer owners can use, Microsoft. hopes to find
(a) that the demand for Windows' is inelastic.
(b) that the demand for Windows is elastic.
(c) a large positive value for the cross elasticity of Windows and other software.

{d) a negative income elasticity for Windows.

9. Paul and Paula are the only members of society. The table gives their marginal benefits from missile
gunboats, a public good. Determine the marginal benefit to society of the second missile gunboat.

(a) $16 million Quantity Paul's marginal Paula's marginal
$8 milli (number of missile benefit benefit

(b) $8 million gun boats) (millions of dollars) (millions of dollars)

(c) $12 million 1 6 10

g 2 4 8
(d) $10 million 3 5 ¢
4 1 3
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10. Several firms want to be the only horse carriage service in a small tourist town and must pay the city for
a license to operate as a monopoly. Competition among the potential firms will result in
(a) bidding up the price of the license so that the winning firm makes $0 economic profit.
(b) the winning firm making an economic profit because it will be a price maker.
(c) the winning firm making an economic profit because it will have no competition.
(d) the winning firm making an economic profit because rent seeking cannot occur.
— ~ g (50 43)
L BT HARIBO— B PR T SRRy EOR - 551 © 20%)
(1) BEFRBERAVEEEE R TR 7
() E—BREREEE TRENEREDE ) & I AFREOTERIS ? R
2. BMELARCHEHEGE TR - FIRNSGEE TR TEREE, - 3 30%)
() {EErEES - mERMREFE?
(2) Wi SRR R B G AMT L RE R PSR 7
(3) A= EFHE B E W IR R ?
(4) T At MR RS R ?
[V R (4yAHEEEER - AT < ]
= REERE 04
L FEREEEMESNE > BENERIIAERE THEERER ) ? (10%)
2. FLEFEZES  =EI[ERN &R - AFTEENEEE GECREE AIRTFESUEZ SR

AHNZZE » R 7 (10%)




